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Question 1 (20 Marks]
a. Bxplain the need and importance of indirect techniques of demogtaphic estimation? [12]

b. Evaluation of fertility data on recent births and children ever botn is vital beforehand detailed
analysis. As a demographer tasked to evaluate tecent census data collected in your country
explain possible errors that you may encounter based on the information regarding:

i Cutrent ot petiod fertility; and | 4]
i,  Parity or lifetime fertility. [4]
Question 2 ‘ [20 Matks]

Census data in Table F2 was obtained on childten ever born (CEB) and births in the Jast 12
months fot women in country X in 2002, Based on these data, an attempt was made to estimate
fertility using the Trassell variant of Brass P/F ratio method. The results ate presented in Table E2
using standard symbols (in Manual X of United Nations). You may use in your calculations the
relevant formulae and Table A1 coefficients in the appendix. The reported population for country
X was 71,315,944.

Table E2

i Agegroup W) CER(i) B{l) Py flR) o) FN)  wh)  f()  POYER) P
1 1519 3014706 1160919 320406 ----- - 05314 0237 0087 01262 -

2 20-24 2653155 4901382 609269 - SN

3 2529 2607009 085857 561404 e oo cesems mens e

4 3034 2015663 0910256 367833 e s e 3323 =

5 35-39 1771680 10384001 237297  —meee s weeeee 4094 0205 0.1310

6 40-44 1479575 9164329 95357 - e e 4579 0,167 00568 -

7 45-49 1135129 6905673 38125 -——- -——- 48288 4790 Ry

a) Calculate the values for columns P(i) to f+(i) in Table E2 as indicated by the blank spaces.

[10]

b) Caleulate P/F tatios for all age groups. 12]

¢) Interpret the meaning of the P/F ratios you obtained above. » [2]

d) Based on the values you obtained in (b), calculate the adjustment factot, k and give a reason on
the method you have chosen. [2]

e) Calculate the adjusted festility rate, £ (i). 12]

f) Using the results obtained above and data in Table B2, estimate the reported and adjusted total
fertility tate for country X, and cotnpare the tesults. ' [3]

g) State yout assumptions for using the Brass P/F ratio method to estimate fertility. (4]




Question 3 [20 marks]
a. Describe the rationale of Relational Gompertz Model of fertility schedule. (5}
b. What are the data requirements for this method? 4]
c. State any three (3) assumptions of the method. [6]
d. Explain the meaning of the parameters « and B in this relatonal fertility model [5]

APPENDIX

Table Al: Table Coefficients for F(i) and £+(i)
Age group a(f) b(i) c(i) x() y(i) z(i)
15-19 2531 -0.188  0.0024 0.031 2287  0.114
20-24 3321 0754 0.0161 0068 0999  -0.233
25-29 3265  -0.627  0.0145 0094 1219 0977
30-34 3442 0563 0.0029 012 1139  -1.531
35.39 3518 0763  0.0006 0162 1739 -0.3592
40-44 3.862 -0.2481 -0.0001 027 3454 21497
45-49 3.828 -0.0002
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